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of268 | 400m AF SHHE2) 5495(%:8 BEREE(2) 56.11(#THE BulM2) 58.34|/M il FK(2) 5894|117 K & A(2) 1:00.46iEFH [5(2) 1:00.57| | L2 1:00.69|{EfE E(Q) 1:01.80
=&E—% #-HAH =& - KREFH #-HHF =&-E-g =X E—% =& FEmd =& ¥4
o126 | s00m "aE &2 2:08.72|%R B&HAKR(Q2) 2:10.02|fF#E HBK(Q2) 2:13.86(5RF KHE(1) 2:15.90[ &R PIHR(©2) 2:18.88|BH#R ZEA(2) 2:19.35|BE)Il BaK(2) 2:20.78|1k % #(2) 2:21.36
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oro6n | 3000m =N B2 9:17.90[#* £ =&k(2) 9:43.68| 1L (1) 9:43.79| B #RER(2) 9:46.65[E:8 A2 9:52.66| 5= HE(2) 9:58.47|FHF ZEE(Q2) 10:11.07| R8Il #EK(Q) 10:30.04
e 7 hng- g e 7% FE- AL #-HATH - - Frp -
ono6n | 11omm =iE WAEN2) 17.60 (-0.8)|/MHI % K(2) 17.90 (-0.8)|%k 75 HE(2) 18.76 (-0.8)|#:kR A HIR(2) 19.22 (-0.8)|Fim B=(2) 19.30 (-0.8)|;tE #HH(2) 20.83 (-0.3)[FLIl #HHEE(1) 20.93 (-0.3)|RAF (1) 20.97 (-0.8)
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onoen | i R &8 w6.29 (+2.2) |l AEA(1) w5.66 (+2.2)| KAfKR {HE(2) w5.38 (+2.4) | FH E(2) w5.34 (+2.)|ILO i (2) 5.33 (+1.4)|FE 1L B(2) w5.13 (+2.1)[IE2 B2 w5.13 (+2.4) |7k BEE(1) w5.11 (+2.9)
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R R =& KEFH =&-RH g - =&-gme =&-Fms B AL
9A26H | 110mH 17.99 (-0.2) 17.39 (-0.2) 20.27 (-0.2) 20.58 (-0.2) 20.97 (-0.2) 21.19 (-0.2) 23.73 (-0.2)
9260 | FatLy 10.46 7.31 10.66 7.65 6.02 5.16 5.28
9H26H | bk 1.45 1.45 1.35 1.55 1.25 1.25 1.30
9H26H| 400m 58.94 58.82 1:06.46 1:06.81 1:03.43 1:06.74 1:09.85
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9A26H | 100mH 16.94 (+0.7) 18.05 (+0.7) 19.69 (+0.7) 21.91 (+0.7) 19.26 (+0.7) 21.25 (+0.7)
9H26H | Embk 1.25 1.20 1.30 1.25 1.20 1.15
9H26H | faix 7.62 9.98 6.68 8.72 6.51 6.25
9H26H| 200m w 29.26 (+4.3) w 30.36 (+4.3) w 30.01 (+4.3) w 30.88 (+4.3) w 31.92 (+4.3) w 31.28 (+4.3)
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